
 
 
 

 

 הצעת פתרון – 6 בוחן מס'

1.  

 0.5−4 = 5𝑥2 − 2𝑥 − 23 

5𝑥2 − 2x − 39 = 0 

𝒙𝟏 = 𝟑   , 𝒙𝟐 = −
𝟏𝟑

𝟓
 

2.  

log √𝑥 + log(√𝑥 + 3) = 1 

log(𝑥 + 3√𝑥) = 1 

𝑥 + 3√𝑥 = 10 

3√𝑥 = 10 − 𝑥/( )2 

9𝑥 = 100 − 20𝑥 + 𝑥2 

−𝑥2 + 29𝑥 − 100 = 00 

𝑥1 = 25     ,   𝒙𝟐 = 𝟒 

 הפתרון נפסל 

 לאחר בדיקה

log2 :סימון .3 𝑥 = 𝑡 

𝑡 +
1

𝑡
= −

5

2
2𝑡    (𝑡 מ"מ      ≠ 0) 

2𝑡2 + 2 = −5𝑡 

2𝑡2 + 5𝑡 + 2 = 0 

𝑡1 = −
1

2
   , 𝑡2 = 2 

log2 𝑥 = −
1

2
   ,   log2 𝑥 = −2 

𝑥 = 2−
1
2     ,    𝑥 = 2−2 

𝒙𝟏 =
𝟏

√𝟐
     ,   𝒙𝟐 =

𝟏

𝟒
 

4.  

𝑥log2 𝑥 = 16 

log𝑥 16 = log2 𝑥 

log𝑥 24 = log2 𝑥 

4 ∙ log𝑥 2 = log2 𝑥 
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 :חיתוך

  

log2 סימון: 𝑥 = 𝑡 

4 ∙
1

𝑡
= 𝑡      מ"מ 𝑡   (𝑡 ≠ 0) 

4 = 𝑡2 

𝑡1 = 2   , 𝑡2 = −2 

log2 𝑥 = 2   ,   log2 𝑥 = −2 

𝒙𝟏 = 𝟒     ,   𝒙𝟐 =
𝟏

𝟒
 

 :ק"ה .5

𝑥 + 1

𝑥 − 1
> 0 

 

 

 

𝑥 < 𝑥    או    1− > 1 

 פתרון:

log3(
𝑥 + 1

𝑥 − 1
) >  log3(

1

9
) 

𝑥 + 1

𝑥 − 1
>

1

9
 

𝑥 + 1

𝑥 − 1
−

1

9
> 0 

9(𝑥 + 1) − 1(𝑥 − 1)

9(𝑥 − 1)
> 0 

8𝑥 + 10

9(𝑥 − 1)
> 0 

 

 

 

𝑥 < 𝑥    או    1.25− > 1 

 

 

 

 

 

𝒙 < −𝟏. 𝒙    או    𝟐𝟓 > 𝟏 


